
SOLUTIONS

PUZZLE NUMBER 1

Solution: 4

PUZZLE NUMBER 2 PUZZLE NUMBER 3

PUZZLE NUMBER 4 PUZZLE NUMBER 5

Solution: 5 (coordinates: 2,3)

PUZZLE NUMBER 6

Solution: IDEAL

THE SECRET CODE IS: 48954 to spell the word ‘ideal’

Solution: 8
Solution: 9

240 seconds ÷ by 60 seconds 
= 4 minutes

236 minutes  + 4 minutes = 
240 minutes

So,  240 minutes ÷ by 60 
minutes = 4 hours. 

Solution: 4

Using the answers from the 
other puzzles (4, 8, 9, 5, 4) you 
can identify the second row 
down as being relevant. The 
letters this gives you are:

DIEAL

Rearrange these letters to get 
the word:

‘IDEAL’


